[Effici

ency vs Dxy |

>0.01,
<

j®)
©009
>
@08
D
®007
©
0.006
0.005
0.004
0.003

0.8

........................................................................
........................................................................

0'6_ H H H H K
~25-20-15-10 =5 0

510 15 20 25
TP dxy (cm)

—=— DQM_mMKFIT_TTbase

—e— DQM_mKkFit_TT_retrainOIldFiles125_v2_prelimWP_b5iter
—— DQM_mkFit_TT_baseline_6iter

—+— DQM_mkFit_TT_RetrainV2_WP2_6iter

| Efficiency vs Dz |

nNO0.01,
S

.....................................................................
[ TR T B R R

2030
TP dz (cm)

10



	Contents
	Page 1


